Name: (please print)

Signature:
ECE 3455
Quiz #2
Summer 2010
Quiz duration: 30 minutes
1. You may have one 8 %2 x 11 in. “crib” sheet, written on both sides, during the

Lo

quiz. You may have any calculator you choose, but no computers. No other
notes or materials will be allowed.

Show all work necessary to complete the problem on these pages. A solution
without the work shown will receive no credit.

Show units in intermediate and final results, and in figures.

If your work 1s sloppy or difficult to follow, points will be subtracted.
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For the circuit below, do the following.

i.  Find the transfer function T((D) V. /Vs.
1i.  Ifitis required to have a gam of 12 dB at dc, what value does A, need to

take?
iti. Find component values such that there is a breakpoint due to C, at 30,000
rad/s.
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Room for Extra Work
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